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2AH: A
S WH
e =

(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Tes? g4 373,000 373,000 0
AN TzE XA 125,000 125,000 0
307 212t0| ™ 125,000 125,000 0]
04 SIZ2ISHAAISHE E X 125,000 125,000 0
OZzs3 &ddl XN 125,000,000 =14l 125,000
TEs 240 8AXRA 160,000 160,000 0
307 2iz2to| & 160,000 160,000 0
04 SIZ2ISHAAISH E & 160,000 160,000 0
OZzs3 EHI| #HAMIH
160,000,000 =14l 160,000
I2s MINAZEN SSHAKXNH 70,000 70,000 0
201 et 70,000 0 70,000
03 HAI2 G HI 70,000 0 70,000
O3 HIHEBEE 2SHAIXEH
70,000,000& = 14! 70,000
HAE EsREZT 29 18,000 18,000 0]
201 et d| 3,000 3,000 0
01 AR 22l ] 3,000 3,000 0
O6 & Xt 3,000
>PRAE sF2US XE A
3,000,000& x14! 3,000
307 2Iz2t0| & 15,000 15,000 0
04 SIZ2SHAAISH E & 15,000 15,000 0
OFAE HE=32TZT 29 15,000,000 x14! 15,000
ASIAHASE 100,000 100,000 0
Or=g A2 AFEHI XIS 100,000 100,000 0
307 2izto| A 100,000 100,000 0
02 QIZIA AAIE E X 100,000 100,000 0
O%sy A2 Atgdl X
100,000,000 =14l 100,000
AMOH S35 5,676,295 6,283,562 A 607,267
J| 279,053
& 33,600
Al 5,363,642
HEMSSY 3,763,953 3,380,091 383,862
MEA2SEINE FLAXE 1,635,435 3,080,091 N 1,444 656
301 et A= 1,415,435 1,390,971 24,464
V0= - 2sESE2M42 1,415,435 1,390,971 24,464
ONYE 24 L ARY 29 22|
6,000,000 =14l 6,000
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fol

(84, =24, 95) g4 22l
s 80,000 300 A =128
StER= 20,000 *300 A« 122
cl bl 150,000 34 A +12&
Al A HI 100,000& 300 A +12&
B, RAM3H 50,0003 *3H A +12&
= XHAl 100,000& 1CH
=D R == 100,000 = 1CH
H2(sELE) 1,000, 0003 = 1CH
g R 3,000,000 * 14
g XNEZ X el

22(280, 62 1655 &%)

3,176,100 «621x12&
2=g 3,176, 1002 «621 +50/ 1002 &
2 S0l 3,176, 100& =621 60/ 100+2&
g 350,000& 62! x12&
=4l 50,000& 621 12
Al 250,000& »62! x12&
=2l 100,000 x62! x12&
Zx=dg 80,0008 +6Q! x12&
=N 330,364,000&*1.5/100
HEEZ 330,364,000 1.1/100
QIALBEEE 330,364,000& *3.06/100
YLE= 10,797,000& #3.275/100
o= 330,364,000& *4.5/100
g8 d+= gl 80,000,000& » 14|
g & Al
2=2(20, 72 988 &¥)

2,361,400& 152!« 12
2= 2,361,400& 1521 x50/100+2&
HFOtHl 2,361,400 »1521%60/100+2&
d=g 350,000 x15Q1x12&
=2l 50,000& 1521 «12&
AlHI 250,000& x15Q1 x12&
g28s 619,978,000& =1.5/100
HEE & 619,978,000& =1.1/100
QAZEEE 619,978,000& #3.06/100
IQYEER 18,972,000& *3.275/100
EIRCGE= = = 619,978,000& *4.5/100
0z =< 400,000& »32! x12&
EMH(AE, 84

=4)
80,0002 2101 ¥52 *53]
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1,000
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18,000
7,200
5,760
4,956
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35,421
42,506
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SN ASHSD
M ANMESELS
tel: dEHssH
SA BB O () - MM - HES 0l &+ o4 il
SENEETICEEEED)
80,0003 x2121 x 10 «23| 33,600
ONEES (DL g4 54)
60,0003 x2121 123 15,120
O3Utsa =43 15,000, 0002 14! 15,000
O=NUz Z&3 15,000, 000& 14 15,000
OadgE dt 24ZFHl 150,000 +«35 5128 5,400
OMYlE Mot AExSEY)
100,000& x3Z =+ 12& 3,600
Oagg A3l 6,000
DEIAIATHW ASIH 2,000,000 x 14! 2,000
Det=aAASAAN HAZH 2,000,000 14! 2,000
DEt=aAAd=SAAW AZ Y 2,000,000 14! 2,000
Oadge o=t 52,780
DEH=E(AT,S4,54) 250,0008*2121+23] 10,500
Deds 200,000& 2121 %23 8,400
>&I= 200,000& x1521 23| 6,000
DT-A= 65,0003 2121 %23 2,730
> gsts 250,000& 2121 x 13| 5,250
>EISH (=) 200,000& 521 %23 2,000
>EI(ET) 200,000& 521 %23 2,000
DAL TS (S A 300,000& 521 %23 3,000
> & d st 200,000& 2121 %23 8,400
> EHOI = 150, 000& * 1521 +23| 4,500
Og&dx E23HZH 7 18,500
PAEAES 1,500, 000& *2JH4 3,000
e R e Ry 1,000,000& * 10X 10,000
>HEHE 500, 000& 2K 1,000
> 23S 150,000 *521 x23| 1,500
DIMRA(SXILR) 200,000& *2 &L 53| 2,000
DHE 200,000& x5¢I 1,000
O=2ads 288 2 7,095
>2dE 200,000& x521 %23 2,000
>OlE 100,000 4 X +23] 800
>olE01 150, 000& *5J4 *23] 1,500
DOtRA OA 15,000& » 150 33| 675
DA 2SS 20,000& *5CH =23 200
> = 8,000 x20JH 12& 1,920
Osads 288 22 4,460
DESAIS 150, 0002 *54 750
>ESE 50,0002 *3H4 150
DUz AE 300, 0002 =34 900
>AE=S 40,0002 *50H 200




A HdZH=H
M AQHSEAS
oelr HEHSSY CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
DIMIFAAE 80, 000& *2H 160
>al=s 350, 000& =44 1,400
>AEIEHEH 300, 000 =374 900
Oage g3z 6,000,000 x50 30,000
405 XHA&HF S HI 220,000 0 220,000
01 XML 2 ZF S| 220,000 0 220,000
OXH2SZINE A0 220,000,000 1A 220,000
20 HESUHE &N 300,000 300,000 0
307 2iz2to| & 300,000 300,000 0
04 SIZ2ISHAAISH E & 300,000 300,000 0
OHMb52s ZRToHsUS &
300,000,000 « 1Al 300,000
MEMNE sHX3 1,828,518 0 1,828,518
307 2I2t0| & 926,708 0 926,708
02 DI AAIE E X 626,708 0 626,708
OFEHM= &43t XN&E 250,000,000 « 1Al 250,000
OdSMENEX 29 376,708,000& » 14! 376,708
03 IZEHY P ESIHIEX 300,000 0 300,000
ONMEIANR=Z 29 300,000,000 » 14! 300,000
308 XHXIGHH SO0l & 901,810 0 901,810
08 W=EJl&otistE = 901,810 0 901,810
Ox=-.-&880 H=g84d3s &
180,000,000 =14l 180,000
Ox-3suW MEANEZX X
721,810,000 « 1Al 721,810
MEHssY 1,610,532 1,516,325 94,207
J| 265,648
&< 33,600
Al 1,311,284
LAEHHA O & 2K 16,360 21,400 AN5,040
201 gEt2Ad| 1,000 1,000 0
01 AP 22| H| 1,000 1,000 0
O1 dtf==2H| 1,000
DAE MU K34 321 ME
50,000 «20¢! 1,000
202 04| 11,760 16,800 AN5,040
01 2Ll 11,760 16,800 A5,040
ONMESEAI HFRF& 980,000& x12& 11,760
301 et A= 3,600 3,600 0
09 HAIAHI BAZ 3,600 3,600 0




2AN: A=
M. ANOIME2Y3E
chel: MEHSSY (el @2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OMEMEXNE=X Ws0]
50,000& * 1221 x3 23| 3,600
Z2REX A HE | 55,000 55,000 0
307 212t01 & 55,000 55,000 0
04 QIZESHAFAIRHE 2 X 55,000 55,000 0
OZJAZX A el | 55,000, 000& =14 55,000
SFANEI(H) S=SE W3 KAl 130,000 120,000 10,000
307 212t01 & 130,000 120,000 10,000
04 QIZHSHAFAIE 2 X 130,000 120,000 10,000
02017 AMEII(BH) s=¢ a3l Al
130,000, 000& 14! 130,000
23T HEA MHEXNEUS MR 100,000 0 100,000
307 212t01 & 100,000 0 100,000
04 QIZHSHAFAIE 2 X 100,000 0 100,000
02017 23T Hzd MEMSUHSE ME
100,000, 0003 *14] 100,000
F=Al A et M=E = 20,000 20,000 0
307 QI2t0| M 20,000 20,000 0
04 QIZHSHAFAIRE 2 X 20,000 20,000 0
02017 & | HEAAMY N=UHE JH=
20,000, 000& *14] 20,000
nsstn AE MsUta HE 220,000 220,000 0]
307 QI2t0| ™ 220,000 220,000 0
04 QIZHSHALAIE B2 X 220,000 220,000 0
Q2017 Dssw Hs HEsUal A
220,000,000 * 14! 220,000
FEXAH =SS U3 M= 35,000 35,000 0
307 212t0| & 35,000 35,000 0
04 QIZISHALAIE B2 X 35,000 35,000 0
OHM123 |FX M=HECIEHHS M=
35,000, 000& =14 35,000
AF=AMEU d=HLUAUS KA 35,000 35,000 0
307 212t01 & 35,000 35,000 0
04 QIZHSHAFAIE 2 X 35,000 35,000 0
OM133 |=AI&H E2HLULACS ME
35,000, 000& *14] 35,000
SFAEH ZR_EEEHSEZEUE HE 15,000 15,000 0
307 212t01 & 15,000 15,000 0
04 QI2FSH AFAFS B X 15,000 15,000 0




2N
X ZH -
L= B
el

A2 =S
AN E&d st
dHssd

(o
S - BB () - HEAY - BES Ol At o %@ﬁ HRE2
OHMI133 FAEH 2 EH2 U NE
15,000,000 =1 Al 15,000
2FEXE 2 ZAUE HE 35,000 35,000 0
307 2Iz2t0| A 35,000 35,000 0
04 QIZFH AL AR 2 & 35,000 35,000 0
OHM10a =X =2WH Z4U3 M=
35,000,000& = 14! 35,000
FFEAEU E=2SEtHs i A 10,000 10,000 0]
307 212t0| & 10,000 10,000 0
04 CIZ2tSHALALS B X 10,000 10,000 0
OHNB83l =AU dA=2SetU3l H=E
10,000, 000& * 1Al 10,000
QAF=XI2 Otet=EHal JH =l 35,000 35,000 0
307 QI2t0| & 35,000 35,000 0
04 DIZFH AL AL 2 & 35,000 35,000 0
OM153 |=X2 OtctEWHSE HA
35,000,000 1Al 35,000
FEXAE 22 LEEZRUE WA 12,000 12,000 0
307 gizto| A 12,000 12,000 0
04 CIZ2tSHALALS B = 12,000 12,000 0
OHMI128 |FX2H ctX=2 LEERUE M=
12,000,000 =1 Al 12,000
Xl 2D A20F2CHE JH = 25,000 25,000 0
307 2iz2tol & 25,000 25,000 0
04 DIZHEHALAFRI B X 25,000 25,000 0
OHM93l XD d=20k2UH3 JHE
25,000,000 = 14! 25,000
2FEXNLH M=2F20UE A 35,000 35,000 0
307 2Iz2t0| & 35,000 35,000 0
04 QIZFH AL AR 2 & 35,000 35,000 0
OHM93l |F=X d=2=32013 M=
35,000,000& = 14! 35,000
HFAE M=2F20U3 A 35,000 35,000 0
307 212t0| ™ 35,000 35,000 0]
04 SIZ2ISHAAISHE E X 35,000 35,000 0
OMN73 =AU d=2F30U13 M
35,000, 000& = 14! 35,000
BH2A =2 0t2hEME JH = 8,000 8,000 0
307 QI2t0| & 8,000 8,000 0
04 CIZ2tSHAPALS B = 8,000 8,000 0




AN AZHSD
M AN MsEdst
& MEHssd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHM9sl 2a =20tetEUS M=l
8,000,000& =14l 8,000
FFEXA 8= =50 A=W Wz 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
02017 FF=XAH 8= =50 BHAZUS M
kS| 30,000,000& =14 30,000
A SOEOl IOtHE 428 2 &3 Alel 10,000 0 10,000
2 H=
307 glz2tol & 10,000 0 10,000
04 QIZFHALAIH 2 = 10,000 0 10,000
02017 F=AIZHl SOEO SJUE dLH
RS A Rl =SS 10,000, 0003 =14 10,000
ZEFC AFU3 W=l 50,000 50,000 0
307 glz2tol & 50,000 50,000 0
04 DIZHHALALSE E X 50,000 50,000 0
02017 2EFC =03l W=l
50,000,000& =14l 50,000
U SA2E=s20U2 W 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
02017 S82UHE S22 M
8,000,000& x14! 8,000
Hed=sgs XJ 4,000 2,000 2,000
307 21201 A 4,000 2,000 2,000
04 DIZFSHALAIRI B X 4,000 2,000 2,000
oddx=sgs XA 4,000,000& =14 4,000
AEHGH0] SEeHUE JHE(S3HAN) 2,000 2,000 0
307 gl2tol & 2,000 2,000 0
04 DIZHHALALSE E X 2,000 2,000 0
OxlEgrol Serthal JHE (SsHAl)
2,000,000& » 14! 2,000
AHYHET 2AE 2+ X2 5,000 7,000 A 2,000
307 21201 A 5,000 7,000 A 2,000
02 It S AIHE L 5,000 7,000 A 2,000
ONUSHT LeAL B4 N
5,000,000& »14! 5,000
rZdHE 28 N 6,000 6,000 0
307 21201 A 6,000 6,000 0
02 QAHFAAHEX 6,000 6,000 0




AN AZHSD
M AN MsEdst
Ol MEBHSSA oEe)
= _ — d =
SA - B (SA) - MRAY - BYS e 2
oelsgsHd 29 X 6,000,000& 14 6,000
ZRAZXADII(HH)HE & EalFIIs &8 X 57,000 57,000 0
307 glz2tol & 57,000 57,000 0
04 QIZFHALAIH B = 57,000 57,000 0
OZAEZXIADI(H) tHal & Eal&EIIUa &
A& 57,000,000 =14l 57,000
oza s 8 X3 10,000 10,000 0
307 21201 & 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0
oozd sl &8 X 10,000,000 * 14! 10,000
ZRAZUMENSUHE & 80,000 80,000 0
307 21201 A 80,000 80,000 0
04 QIZHHALALE B = 80,000 80,000 0
OXN25s ZEECMEM=sUa &
80,000,000 =14l 80,000
ZEE 24 dEN=sUHe =X 15,000 15,000 0
307 glztol & 15,000 15,000 0
04 QIZFHALAIH 2 = 15,000 15,000 0
02017 & 24 dEHsUH =M
15,000,000 * 14! 15,000
ZHHOetEs A 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 RIZFHALAIH 2 = 5,000 5,000 0
OHM26al LHAAHMOIUEUS &
5,000,000 14| 5,000
AN 0/E2H N 160,000 134,160 25,840
J| 112,000
< 24,000
Al 24,000
301 gt d= 160,000 134,160 25,840
2l 112,000
< 24,000
Al 24,000
01 Ml2ZE 05z 160,000 134,160 25,840
OAaxZ =23 0l8& XI& 160,000,000 » 14 160,000
J| 112,000
= 24,000
Al 24,000
MEHNEXNCX 25 AR 204,864 195,264 9,600
J| 102,432
Al 102,432
307 glz2+0ol & 204,864 195,264 9,600




SN ALHSD
M AQHSEAS
ool MERSSY CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 102,432
Al 102,432
02 QIZ2IA AAIE E X 204,864 195,264 9,600
OMESEXNEX &8s N
204,864,000 « 1Al 204,864
J| 102,432
Al 102,432
HEd dHsg2s I 102,432 97,632 4,800
J| 51,216
Al 51,216
307 2iz2tol & 102,432 97,632 4,800
J| 51,216
Al 51,216
02 QIZIA AAIE E X 102,432 97,632 4,800
oozd Hsgs K& 102,432,000 14! 102,432
J| 51,216
Al 51,216
ME T2 ) 29 19,200 24,000 A4 800
& 9,600
Al 9,600
307 QI2t0| ™ 19,200 24,000 A4 800
& 9,600
Al 9,600
02 QI2tAAMAIE E =X 19,200 24,000 A 4,800
Odet=snas 29 19,200,000 » 1Al 19,200
& 9,600
Al 9,600
MEMSXNELL s NH 13,784 15,507 N1,723
307 2Iz2t0| & 13,784 15,507 N1,723
02 DIZHABAAIRE E X 13,784 15,507 N1,723
OMEE LIRS BIXIAIYE &0 2
13,784,000& = 1Al 13,784
HEN Hsgs K& 6,892 6,892 0
307 212t0| & 6,892 6,892 0
02 QI2tAAMAIE E =X 6,892 6,892 0
OMETE H2M XS BIXIA LY &=
1,723,000 /24021 %x23| 6,892
2II2s 84 155,000 105,000 50,000
FFZ012 29 XN 50,000 0 50,000
307 2I2t0| & 50,000 0 50,000
02 QIZ2IA AAIE E X 50,000 0 50,000
OJ=F=2012 HHIAMY 50,000,000& = 14! 50,000
AF2HZIIH3 0= 80,000 80,000 0]




SN ASHSD
M AQHSEAS
©el: 20|28 |4 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 80,000 80,000 0
04 SIZ2ISHAAIH E & 80,000 80,000 0
OHMP233 |F==2HZOIHa M=
80,000, 000& = 14! 80,000
QAF AL 2| K IR F| 25,000 25,000 0
307 212t0| & 25,000 25,000 0
04 SIZ2ISHAAISHE E X 25,000 25,000 0
OHM133 A 2D/ X i =
25,000,000& = 14! 25,000
ool HEesd 146,810 120,000 26,810
J| 13,405
Al 133,405
e MEsE2s N 50,000 50,000 0
307 QI2t0| ™ 50,000 50,000 0
02 QI2tAAMAIE E =X 50,000 50,000 0
OZe M2H=E SHXF 25,000,000 14! 25,000
O&e Med=s g43 XN
25,000,000& = 14! 25,000
AR MEHNSUHS &M 40,000 40,000 0
307 212t0| & 40,000 40,000 0
04 SIZ2ISHAAISHE E X 40,000 40,000 0
OHM103 Z-AHC MEHEUHE &
40,000,000 x14! 40,000
O Ol AL SHAF JHE| 30,000 30,000 0
307 QI2t0| ™ 30,000 30,000 0
04 CIZ2tSHALALS B X 30,000 30,000 0
OOl ALXx SHAF JH = 30,000,000 = 14! 30,000
SO MEHN F X S A BHXI 26,810 0 26,810
Jl 13,405
Al 13,405
307 2Iz2t0| & 26,810 0 26,810
J| 13,405
Al 13,405
02 QIZFE AAIRE E X 26,810 0 26,810
OO MEHFA A BHXIALE
26,810,000 = 14! 26,810
J| 13,405
Al 13,405
HNEAEES 1,706,237 1,352,876 353,361
= 350,000
Al 1,356,237
MEHSALES 1,459,716 1,100,976 358,740




SN ASHSD
HEM: HFALEES
CHelr MEHSALRS (et
- RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 350,000
Al 1,109,716
SNSRI 22 MEHFAE X 301,080 0 301,080
| &0 Y20 301,080 0 301,080
01 Al&H| 300,000 0 300,000
Ostner 82 MEHSAE X1 (nsdd)
300,000,000 » 1Al 300,000
03 AlE 201 | 1,080 0 1,080
OAI& 20| 1,080, 000& 1Al 1,080
HOIEEE X4 154,120 154,146 A 26
401 AlEHIZ £ 0HY| 154,120 154,146 A 26
01 Al&EH| 150,000 150,000 0
OHOIE=HE XHZ2A 150,000, 000& x 14! 150,000
02 2teld| 3,400 3,390 10
Oozeldl 3,400,000 =14l 3,400
03 AlIE 21| 720 756 A\ 36
OAlIE 20t 720,000 * 14! 720
LQUES HERNSFAE X 20,000 20,000 0
401 AlEHI 22 OhYI 20,000 20,000 0
01 Al& H| 20,000 20,000 0
QMuS MEHSAE SAES
20,000,000& x 14! 20,000
PANEZ2ZE ASANE &= 502,500 0 502,500
& 250,000
Al 252,500
401 Al HI L £ 0HHI 502,500 0 502,500
= 250,000
Al 252,500
01 Al& b 500,000 0 500,000
SAHNEZ2ZY HEAL = (U=2HI2H =3
& E) 500,000,000 x 1Al 500,000
=} 250,000
Al 250,000
03 AlE 2 HH] 2,500 0 2,500
OAl&E S0l 2,500,000 =14l 2,500
OHMAIEd = EXIZ2A 20,000 0 20,000
401 Al HI L =2 Tl 20,000 0 20,000
Al & H| 20,000 0 20,000
Obts&AEES HeloldeZ2 AEMAIEZ & 20,000
> AAI A A 20,000,000& = 14! 20,000
EHEH ot AHAHOIEESH HE 30,000 0 30,000




M AIHF
L

M MSALEHS
ool MEISALRE (el @2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
401 Al& Bl & 28I 30,000 0 30,000
01 A& HI 30,000 0 30,000
Osgd etel AdUAHoIE=ZE 30,000
> & Al A HI 30,000,000& =14 30,000
SAM=E=ZH 02t XY &X 201,008 0 201,008
< 100,000
Al 101,008
401 AIEHIZ 28I 201,008 0 201,008
= 100,000
Al 101,008
01 A& Bl 200,000 0 200,000
OO0r2tx=d & HOAIL &X
200,000,000& =14 200,000
= 100,000
Al 100,000
03 Al =20 HI 1,008 0 1,008
OAIZ S HHI 1,008, 000& 14! 1,008
HRHLIAE AIEHE SA 201,008 0 201,008
401 Al&HI & 28I 201,008 0 201,008
01 A& HI 200,000 0 200,000
OHRHLIAZE AMEMNSSAH(2016E SEXH
wWE3 goeord) 200,000,000 =14 200,000
03 Al 2 THHI 1,008 0 1,008
OAIZ =2l 1,008,000 =14l 1,008
Br=2S MEMSANE =4 30,000 0 30,000
401 Al B2 2B 30,000 0 30,000
01 A& HI 30,000 0 30,000
Ott=5 dEMsSAE =4 30,000
> &l Al A A I 30,000,000& » 14l 30,000
sSUMSANEES 246,521 251,900 N5,379
sUXSAE X & SX2e 246,521 251,900 AN5,379
101 1A Hl 26,801 31,892 25,001
04 JIZHHZ22XREE S 26,801 31,892 A5,091
OsUXMSAE 2ed B 26,801
>ll=s 52,6003 101+207 10,889
SO = 52,6003 x 101 %21 %23 2,210
DEsd 52,6003 x101+43 2,262
> AX =S 52,6003 x121%10 526
Pre2fd 52,6003 %1.5%1Q1+50 3,945
DA 2R+
52,600 /8AI2k*1.5%20A1 2t 10 1,973




2N
X ZH -
L= B

el

22 H =S o
HESALES
SUHHSAES

SN HH-S(BN) - MBAY - B il HlnE2
D> & Mz AlH| 130,000& 121 x10& 1,300
>us2 Xl 120,000& =121 102 1,200
>I0AHZ 24,303,000& *4.5/100 1,094
PALBEZ 24,303,000& *3.06/100 744
DAINRQYEE 744,000 *6.55/100 49
>PIESEE 24,303,000& *1.5/100 365
DATHE E 24,303,000 *1/100 244
201 LBt2E | 19,000 19,000 0
01 At 22l 4,000 4,000 0
O1 et=2Hl 4,000
DsUMSAE 228 =4l
4,000,000& %14 4,000
02 =224l 15,000 15,000 0
O1 3322 2 MA 15,000
PSUMSAE 3323 15,000,000 =14 15,000
401 Al BIZ 201 8] 200,720 201,008 A 288
01 A& HI 200,000 200,000 0
OsUHSsAE X & E=
200,000,000 =14 200,000
03 AIE 2 0H bl 720 1,008 A 288
OAl& 2| 720,000& » 14! 720
zaxzgae 674,500 0 1,674,500
Xl 500,000
< 233,000
Al 941,500
s34 ,674,500 0 1,674,500
Xl 500,000
< 233,000
Al 941,500
AX HEMSUX TR HE (=22 MBHSZE 674,500 0 1,674,500
THAE)
X 500,000
< 233,000
Al 941,500
401 Al B2 28I ,674,500 0 1,674,500
Xl 500,000
< 233,000
Al 941,500
01 A& HI ,659,000 0 1,659,000
OEFTHEMSHXOIRE &=
,659,000,000& * 14| ,659,000
Xl 497,600
< 231,880
Al 929,520
02 Zeltl 8,000 0 8,000




AN AZHSD
M ZFA XAz
@2 Ms3¥AXYE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZeltl 8,000,000 » 14 8,000
Xl 2,400
< 1,120
Al 4,480
03 Al S THHI 7,500 0 7,500
OAIZ 2 HHI 7,500,000 »14! 7,500
HE2IAZH (AL A=) 72,388 65,991 6,397
AEIEH (A=) 37,632 36,395 1,237
ol 2l 37,632 36,395 1,237
101 @124l 37,632 36,395 1,237
01 2= 37,632 36,395 1,237
OAt 28 9,649& x1321 x300A| 2t 37,632
Jl2Zd(AZHd=sa) 34,756 29,596 5,160
Jl=dl 34,756 29,596 5,160
201 Let24d] 21,676 21,676 0
01 At 22l 19,536 19,536 0
O1 get==&Hl 16,008
DREANSZE dR=SHI(SAX 2 158)
14,508, 000& 14! 14,508
DelOld Tl EH, &8
300, 0002 »5CH 1,500
Ob5 =&l 3,528
DOt - 2R 7,000& #1401 «33| x 128 3,528
02 =224l 2,140 2,140 0
O1 3323 ¥ MA 1,140
DRERZS 1,900& x50 123 1,140
O3 A€ &Hl |t 1,000
> = AJI =Xl 500,000 = 1CH*23] 1,000
202 Odl 10,080 4,920 5,160
01 = LH 4 di 10,080 4,920 5,160
OJiege=gd0utl 840,000& »12& 10,080
203 YR =& 3,000 3,000 0
04 22 &l 3,000 3,000 0

=l 250,000& 12 3,000




